79. [KOH]y, (#1) = 0.15Mx =21 _ 5 0s3m

80.

81

82.

83.

84.

85.

86.

[HNO4] (total) = 0.18 + 0. 19 50.37 M. HNDJ-

130 mL
[KOH],, (#2) = 0.25Mx —2MC _ 5. 14 M
130 mL
[KOH] (totai) = 0.063 + 0. 14 =M
0.050mL ——
[NaBr] = 0.20 M x =(1.0 Y ) )
100.05mL 10X 105, N
[HNO.J., #1)=3.5Mx29M _ 5 1gm
o #1) 100 mL
95 mL
[HNO.J, (#2) = 0.20Mx 2" _0.19M
\ alo. (#2) 100mL

v = CoiXYow _ 0.375Mx2.50L
e -
o Gl 15.4M
Dilute 0.0609 L of concentrated HNO5 to a total volume of 2.50 L.

= 0.0609L

v o SaX Voo _ 0.0600Mx45.0 L
e il g 14.6 M
CONC .

Dilute 0.185 L of concentrated H3P Q4 to a total volume of 45.0 L.

=40, 185 L

Kol = 018l MOIeS 4o mass KCI = 25.0 + 60.0 = 85.0 g

total volume

85.09 1 mol ’
KCI] = X =[2.07 M C|
Lo 0.5500L 74.649 ‘

(NaCi] = 0.750M x —22-0ML 4725 M aC

300.0mL

Cou X Vo _ 0.350Mx0.2500L
R 6.00M
Dilute 14.6 mL of concentrated HCI to a total volume of 250.0 mL.

=0.0146L =146 mL
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87. moles NaCl need

88.

89.

s S0,

Gt

g2.

93.

94.

ed = 0.400 Efl «0.5000 L = 0.200 mol

massNaCl = 0.200 mol x 518§o? 11.7 g NC&C\

[NaOH,, (#1) = 0.250M x 22:9™L 0. 0962 M
325.0 mL

[NaOH],,, (#2) = 0.175Mx 200.0mL. _ 5 108 M
[NaOH] (total) = 0.0962 + 0.108 =/0.204 M NaOH

E.. S
DL _ 0.750Mx3.00L _ 0188 L

V - DIL

Ry o2l 12.0M
[CaCl,] = 0.550 M X 18305;00r?nLL ':[’6326M Cc?Chl

k. o 350.0 mL
[MgCl,] = 0.250 M x ——-o= =} 0.318 M My Cle
NaCll, (#1) =0.350 M x 222 20,117 M
60.0 mL

NaCl], , (#2) = 0.875 Mx 75.0mk _ 4 ogm

60.0 mL
[NaCl] (total) =0.117 M +1.09 M =[1.21 M N cl

150.0 mL .
NaCll = 0.400 M x 0.240 M N\aC
[ ] 250.0 mL \ ‘ \

Na,PO,] = 0.200 Mx - 2Tt o150 NQB?QH\

100.0mL
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